Division of fractions
To divide fractions, we multiply the first fraction by the reciprocal of the second fraction.

[ Example

5 .1
Work out 75 + 7.
~ Answer
5.1_5.2 .. 1, - 2
D9 = 13771 (+ changes to x, 5 1s turned upside down to 1)
_5x2 _10 _5
= T 12x1 712 7 6

EXERCISE 2.04 }

1 Multiply these fractions together. 2 Divide these fractions.
2.5 3.1 2.5 3.9
3 3%8 b 79 376 L -
1.1 4. 24 4.1 1.6
¢ 5%% d 3%5 © 772 ¢ 377
3.2 1.2.3 21 15
e §%9 £ 2x3xg ¢ 27y £ o83
g 4x 2 h 320 4 Use the rules for priority of operations (BEDMAS) to
3 5 work out:
14 5 1 1, 2.3
9oty P ogtExy
2.4, 3 2. (5 1
¢ 59T d 3X(6 8)
EXERCISE 2.05 }
1 Write these fractions as mixed numbers. 5 Work out these mixed number problems.
7 15 1,41 1y’
a 3 b 1 a 2 5 X 1 5 b (4 5
41 112 1.42 1,42
c 4 a U2 ¢ 25+13% d 45+13
2 Change these mixed numbers to fractions. e 6 % -3 % f 4-1 %
3 5
a 13 b 435 g 62x4 h 8+13
2 2
c 6 3 d 14 3 6 Use the rules for the priority of operations to
q calculate these mixed number expressions.
3 Any mixed number can be written in the form p =
" a 1142112 b 2lx(elyad
. How would this mixed number be written as a 2 3 3 2 3 5
fraction? ¢ 37-23+37 d 72:13:3
4 Work out the reciprocals of these mixed numbers.
1 4
¢ 17 d 102

8 3



Applications of fractions

| EXERCISE 2.06 )

1 Dave swims 60 lengths of the pool every day. When

he has completed 35 laps, what fraction remains to
be swum?

2 This pie graph shows how John Q Citizen has
allocated his investments between shares, real
estate, savings and cash. What fraction is in cash?

Cash Shares

Savings

Real estate

6 1000 m is about % of a mile. Use this relationship

for the following conversions.
a  Write 1.5 km as a fraction of a mile.

b  Change 2 miles to kilometres. Give the answer
as a mixed number.

Mrs Johnson is passing a delicatessen and notices a
jumbo-sized pizza on display. She goes in and buys

% of it to take away.

a If she serves % of the slice bought for dinner,

what fraction of the original pizza is that
quantity?

b Later in the day, the owner of the delicatessen
sells % of the part left to someone else. What
fraction of the original pizza is left?

Garbage Disposal Ltd pick up household refuse in

bags — both plastic and paper. The owner estimates

that % of the bags are plastic. On a day when 15

376 bags are collected, calculate an approximation
for the number of paper bags collected. Give your
answer correct to 3 sf.

3 Aplastic bottle of cola is % full. When it is poured
into an empty glass, the bottle is only % full. What
fraction of a full bottle of cola will remain after two
more glasses have been poured out?

4 Jenny uses a memory stick to store digital pictures,
music downloads and video clips. These take

up %, % and %, respectively, of the memory.
Calculate the fraction of the memory stick that is
still available to store data.

5 The Wells family share the ownership of a holiday
home with three other families. Each family are
entitled to an equal share of time.

a  What fraction of the year are the Wells entitled
to use the holiday home?

b  The Wells rent out their share of the home

to tourists for % of the time. What fraction

of the year do they stay in the holiday home
themselves?

9 A caterer supplies seven large cheesecakes to a

restaurant one morning. At lunch 2 % cheesecakes
are eaten, and at dinner

3 % cheesecakes are eaten. What fraction of a

cheesecake was left over?

10 A 20-litre canteen contains a fruit drink made up

of 13 litres of pure pineapple juice and 7 litres of

water. After % of the drink has been consumed,

the canteen is refilled with water only. What
fraction of the new mixture of drink is pure
pineapple juice?



11 Sze-Min works in an Italian restaurant, serving both

food and drinks to tables of diners. His agreement
with the owner specifies that he will receive a wage
based on the amount spent by customers. He is to
receive 23—0 of the money spent on food, and %

of the money spent on drinks. Calculate his wages

on an evening when $550.95 is spent on food, and
$96.30 is spent on drinks.

12 A container is filled with “full-cream” milk. Another

identical container is filled with trim milk. The

fraction of “full-cream” milk that is cream is %
The fraction of trim milk that is cream is ﬁ The
contents of the two containers are mixed. What

fraction of the mixture is cream?



